(RENE

KT M BME X M E S8 E fR B iTR(Z2 )

IERAHA: 20201 B BifERsS: 99 BRUMESHEE:
HEEHR | B/ \ERRSHRIY T I SCHEE KB A
e .
8 ;' FKTEHY EGETN ==
HEEY 1. B 2. FEEMD 3. —RMD 4. SHEMD
s | & i A2 Hifth ait | B | T
mEZES | (Fwm) | (W) (57T) (A | (AEm) | (B | =
KR
45
MEEE
*EEEFE 1.8Hes
¥R
HENE | THARE | HE | B |5 SRR AR
s s AR B TR s s R R
ﬁ I\
MERK 25 | RREGE | 2 2 it 25, BETIES.
1. BREEESE 1 5,
B HIE 3 3 2. MEEESE19;
3. EHERTETAN 1 5. REFES.
BRSNS AR 2 9, B
48400
P | 2 2 RGN
ImEEE 1. ETREICR3YD;
135 BTSE | 4 4 2. EIR (MEHERGEE) 14, 188
FES.
1. MESHEFRERN 15, R—IR
_ 0.54%, MFzALE;
BiRRiR | 4 4 2. BERERRAE 1 4, THEH 05 4
3. HETEHRERNER 2 5, EEEN 1 4.




W EEE H A (RIE) \BIREREITFIE T,

InE
L5

854

—% | =R | {EIRETR | FUE |FEx BT B NE—
fain | Jein | (SomiE) i | A | 9 | 9 iR
) SRS | 1 1 15 1. RS RISE R EEEAR,
HMEs 2. SRIEFHER=FIETF N TIIRE
R 159 (15 %+ “JHgHFANE) . MEENREBE
| EIEE | 96% 96% 12 1. RS RIS RR RN,
REHE 2. IR BIR= SR N I
R 12 9 (129 + “JHgIFNE) . MEANRBE
.
e
¥x40
N ‘ 2020 44 U o e s
oo | FHE FR le1pP 1. RS IR
A% 2. SRS ER= RIS N TIRE
fR6% (6 53+ “JHEIFNE) , MATNRBEE
.
—XKe — XS
. X HEE W bt 1. R RISIToe AR,
A Ll LS A 2. SHERSEIR= R HTIRE
T (7 53+ “UHERFMR), MRANRBE
.
.. | BERRE ﬁﬁﬁ ﬁjj %10 1. RS RIS RERDE R,
5 L 2. SRS ER= RIS N I
=109 (105 + “JHgHFAN0) . MBENREE
.
s RmE | BREF REF 5 1. RS RIS S RGRIERR,
S | pe—— 2. SHIRITS BIR= SRR N T
asigit 109 BEES | R RIS §$((10§3\+Ez&?‘§ﬁ/|\§&), MEANREBE
#5 35 .
rv ey 7 1A
2 | WeERE ﬁgm g’& ) 1. RS RIS KGRI 2R,
SN 2. SOARITAER= RIS MCTIIE
=109 (105 + “JHgHFAN) . MEENREE
.
AT | SOWARIE) | KHR HKHR S 1. RS EENETRR,
11 5 2. SIS BIR= SRR N I
RPN (5 93+ ZHIEIRANE) . MEENREBE
7 .
WS BRSBTS | gemeaz | 100% 100% |0 1. RUSRISIRAREIEERR,
BE | &RHE 2. SIS EIR= ST NP6
109 109 (10 &3+ =ZZHEFNE) IEI%E)\{%%%




&it | 100| 99
RBA: 1. IBARETR. FEERBES B RREEDS, MeRn,
2. ISIEMOENE, IRISTEMR N, TAYRBEMNE B TR, (BRISTERa

HDMENMEATRIR RIS,

. WEEIENMEREIRSRRILANT B (ZIERE RO E*ERemRIE D) ;
< EMHERETD RN, A= REFE, SoORETHIE TR, REATEINEE: MUSEX

j&: 100%—81%. 80%—51%. 50%—0%.

. mEBE "FEBR B, D3NE, "FEBR BTy, REBRE. 6 EMBE=

MNMEEBR", Bir 1 B804, Bir 2 BiF 60 &, Bix 3 BIF 75 7, ZIMB 55 /9: (80+60+75)
+3=71.6 %, VW&EHATT 7255




